L

soLTeCH

PAGE 109



U
-

soLTecH

*¢SPECIFICATION

FLOW CONTROLS

SOLENOID OPERATED FLOW CONTROLLED VALVES

MAX. PRES | MAX. FLOW | WEIGHT
MODEL | SIZE MPa (PSI) 2/min(GPM) (Kg)
THF | 06 | 25(3630) 125(33) 55

**MODEL NUMBER DESIGNATION

**GRAPHIC SYMBOL

THF 06 (90) THF
DESIGN NO. G
OMIT: {
VALVE SIZE |  DIN 912 BOLTS
SERIESNO.| = 0" s 90: :
UNC BOLT p—
(NORTH AMERICA)
#*<ACCESSORIES
MODEL SOQKET HEAD SCREW CAP ORING
European Design. Std. N. America Design Std.
THF-06 M10 x 45 L 3/8-16 UNC x 1-3/4 Lg. [4| Pcs| P12 [2][Pcs| P29 [2]Pcs

*<*SPECIFICATION

MAX. PRES | MAX. FLOW | WEIGHT
MODEL | SIZE MPa (PSI) £/min(GPM) (Kg)
06 125(33) 5.2
Sb 10 | 2°(3630) 240(63.4) 8.2
**MODEL NUMBER DESIGNATION #*<GRAPHIC SYMBOL
sD 06 (90) )
DESIGN NO. Ol‘JT
OMIT:
VALVE SIZE
SERIES NO. 06: 3/4" LY e _BOLTS
10: 1(1/4)" 9%: P
UNC BOLT i
(NORTH AMERICA) DR A, IN VENT
*<ACCESSORIES
MODEL SOQKET HEAD SCREW CAP O RING
European Design. Std. N. America Design Std.
SD-06 M10 x 45 L 3/8-16 UNC x 1-3/4 Lg..|4|Pcs| P12 |2|Pcs| P29 |2 |Pcs
SD-10 M12 x 55 L 1/2-13 UNC x 2-1/4 Lg..|4|Pcs | P12 |2 | Pcs| P34 |2 |Pcs

*<*SPECIFICATION

MAX. PRES | MAX. FLOW | WEIGHT
MODEL | SIZE MPa (PSI) £/min(GPM) (Kg)
06 125(33) 5.6
SF 0| 250630 Tou063.4) 8.8

**MODEL NUMBER DESIGNATION

**GRAPHIC SYMBOL

SF 06 (90) SF
DESIGN NO. e
OMIT:
VALVE SIZE
SERIES NO. 06: 3/4" DIN 912 I,BOLTS
10: 1(1/4)" % /e i
: UNC BOLT ; !
(NORTH AMERICA) i ;
PR ., IN VENT
*ACCESSORIES
MODEL SQCKET HEAD SCREW CAP O RING
European Design. Std. N. America Design Std.
SF-06 M10 x 45 L 3/8-16 UNC x 1-3/4 Lg..|4|Pcs| P12 |2|Pcs| P29 2| Pcs
SF-10 M12 x 55 L 1/2-13 UNC x 2-1/4 Lg..|4|Pcs| P12 [2|Pcs| P34 |2|Pcs

PAGE 110

[THF-D6]



U
-

soLTecH

**SPECIFICATION

MAX. PRES | MAX. FLOW
MODEL | SIZE MPa (PSI) 2/min(GPM)
06 125(33)
SDF | 25(3630) 240(63.4)
* MODEL NUMBER DESIGNATION *GRAPHIC SYMBOL
SDF 06 (90) SDF
DESIGN NO. out
OMIT:
VALVE SIZE
SERIES NO.|  06: 3/4" DIN912 BOLTS Nﬁ%
10: 1(1/4)" : = —
UNC BOLT
(NORTH AMERICA)
3% ACCESSORIES =
MODEL SOQKET HEAD SCREW CAP ORING
European Design. Std. N. America Design Std.
SDF-06 M10 x 45 L 3/8-16 UNC x 1-3/4 Lg.. 2[Pcs
SDF-10 M12 x 55 L 1/2-13 UNC x 2-1/4 Lg.. 2| Pes

*¢*SPECIFICATION

MAX. PRES | MAX. FLOW
MODEL | SIZE | ™b; (PSl) 2/min(GPM)
06 125(33)
SKF 0] 256630 1055 5)

**MODEL NUMBER DESIGNATION

**GRAPHIC SYMBOL

SKF 06 (90) SKF
DESIGN NO. i
OMIT:
VALVE SIZE
SERIESNO.| 06: 3/4" DIN 912 BOLTS /\{%
. " 90: v
10: 1(1/4) UNC BOLT } ==
(NORTH AMERICA) 1
. PR (1, IN
*<ACCESSORIES -
MODEL SOQKET HEAD SCREW CAP ORING
European Design. Std. N. America Design Std.
SKF-06 M10 x 45 L 3/8-16 UNC x 1-3/4 Lg.. 2| Pcs
SKF-10 M12 x 55 L 1/2-13 UNC x 2-1/4 Lg.. 2| Pcs

**SPECIFICATION

MAX. PRES | MAX. FLOW
MODEL | SIZE | ™y, (PSI) &/min(GPM)
06 125(33)
SKFG [—5-| 25(3630) |—0ea

**MODEL NUMBER DESIGNATION

**GRAPHIC SYMBOL

SKFG 06 (90) SKFG
DESIGN NO. Sl
OMIT:

VALVE SIZE

SERIESNO.| 06: 3/4" DIN 912 BOLTS (L1
10: 1(1/4)" UNC B.OLT
(NORTH AMERICA) IN

*<ACCESSORIES
MODEL SOQKET HEAD SCREW CAP ORING

European Design. Std. N. America Design Std.
SKFG-06 M10 x 45 L 3/8-16 UNC x 1-3/4 Lg.. 2| Pcs
SKFG-10 M12 x 55 L 1/2-13 UNC x 2-1/4 Lg.. 2| Pcs

FLOW CONTROLS
SOLENOID OPERATED FLOW CONTROLLED VALVES

[sDF-06, 10]

[skKFG-O6, 10)

SKFG-10

PAGE 111



U

FLOW CONTROLS

j |- SOLENOID OPERATED FLOW CONTROLLED VALVES

soLTecH
3%DIMENSIONS
THF-06/10 J

Out Port @C _ I
»
_F | E
| | -

L 1J

| L L
11— i E R LS
MAX. D K@ ﬁ}{i}j

n Port 3C

Vent Port @1/

Model A B O D E F H | J K L N Q R S
THF-06 | 35(1.38) | 75(2.95)  ©@26(1.0) |209(8.22)| 17.5(0.7) | 26(1.0) | 64(2.52) | 90(3.54) |125(4.92)| 31.7(1.25) | 10.5(0.41) 37(1.46) 63(2.48) 74(2.91)  95(3.74)
THF-10 | 40(1.57) | 86(3.39) | @29(1.14) 248(9.76) | 19()0.75 | 34(1.34) | 78(3.07) |112(4.41) 150(5.91)| 37.9(1.49) | 14.5(0.57) 43(1.69)| 76(2.99) 86(3.38) | 115(4.53)

SD-06/10 .

Lc LL ' - Drain Port
G

i [\ @)
Jofa L1115 %\@;'\\
Jt N\

& &f
Model A B C D E F G H | J L M N R S

SD-06 | 35(1.38) | 75(2.95) | 162.5(6.4) | 180(7.08)|17.5(0.69) | 26(1.02) | 40.5(1.59) |64(2.52) 90(3.54) |125(4.92) 10.5(0.41) 9.5(0.37)| 37(1.46) | 74(2.91) | 95(3.74)
SD-10 | 40(1.57) | 86(3.39) [173.5(6.83) 197(7.75)| 19(0.74) |34(1.34) 47(1.85) |78(3.07)| 112(4.41) 150(5.91) 14.5(0.57) 16(0.63) 43(1.69) | 86(3.39) | 115(4.53)

~Jn Port

SF-06/10 L
[j Tj —Out Port_ I . - Drain Port
J E [ j fe\ & )
T NN N

~n Port

B

Model A B (] D = = G H | J K L M N Q R S
SF-06 |35(1.38)|75(2.95)| 162.5(6.4) | 209(8.23)  17.5(0.69) | 26(1.02) 40.5(1.59) 64(2.52) 90(3.54) 125(4.92) 31.7(1.25)| 10.5(0.41) 9.5(0.37) 37(1.46) | 63(2.48) | 74(2.91) | 95(3.74)
SF-10 |40(1.57)|86(3.39) |173.5(6.83)| 248(9.76) | 19(0.74) | 19(0.74) | 34(1.34) |47(1.85) 78(3.07) 112(4.41) 150(5.91) | 14.5(0.57) 16(0.63) 43(1.69)| 76(2.99) | 86(3.39)  115(4.53)

&
=,
&

Vent Port / K

PAGE 112



U
-

FLOW CONTROLS
SOLENOID OPERATED FLOW CONTROLLED VALVES

soLTecH
J
*DIMENSIONS = =
L ! Drain Port
SDF-06/10 L _OutPort H
G
— T%q F/E
=M =l -
| O (
' | Ié{}\ @ G}I
H 8 12 | 2R
n Jumud m o C ; m
H H | K N\
il 1 : G e
MAXD b &f
* Vent Port / K !
Model, A B © D E i G H | J K L M N Q R S
SDF-06 | 35(1.38) | 75(2.95)| 162.5(6.4) | 209(8.23) | 17.5(0.69) | 26(1.02) |40.5(1.59)  64(2.52)  90(3.54) | 125(4.92) 31.7(1.25) | 10.5(0.41) | 9.5(0.37)  37(1.46)  63(2.48) | 74(2.91)| 95(3.74)
SDF-10 |40(1.57) 86(3.39) | 173.5(6.83)| 248(9.76) | 19(0.74) | 19(0.74) | 34(1.34) |47(1.85) 78(3.07) | 112(4.41) | 150(5.91) | 14.5(0.57) | 16(0.63) 43(1.69) 76(2.99) | 86(3.39) | 115(4.53)

UNIT: M.M.(INCHES)

A
©

Qo0

SKF-06/10

O

A#i INPORT / a0 '
e | AP H
VENT PORT

* Dimensions for subplate 06 & 10, reference model number "THF" series for details

MODEL | A B c D E F G H 1 J
SKF-06 | 125(4.92)] 90(3.54) [17.5(0.69)| 97(3.81) | 74(2.91)[ 11.5(0.45) | 275(10.8) | 166(6.53) | 78(3.07)| 35(1.37)
SKF-10 [150(5.90) | 112(4.40) | 19(0.74) | 116(4.56) | 86(3.38)| 15(0.59) | 326(12.8)| 166(6.53)| 78(3.07)| 35(1.37)
SKFG-06/10 |
D|E 1 HJ \T[
AJC] INPORT
fasyic{m)
VENT PORT OUT PORT AP H
INC. BmED
= |
o 1
° 1 :
G
* Dimensions for subplate 06 & 10, reference model number "THF" series for details UNIT: M.M.(INCHES)
MODEL A B c D E F G H 1 J
MOUNIING SKFG-06 | 126(4.96) | 90(354) | 18(0.70) | 97(3.81) | 74(2.91) | 11.5(0.45) | 308(12.1) | 166(6.53) | 77(3.03) | 35(1.37)
S”‘i’;;g SKFG-10 | 150(5.90) | 112(4.40) | 19(0.74) | 116(4.56) | 86(3.38) | 15(0.59) | 406(15.9) | 166(6.53) | 88(3.46) | 42(1.65)
s

PAGE 113



U
-

soLTecH

**SPECIFICATION

FLOW CONTROLS
THROTTLE (WITH CHECK) VAVLES

[sRG/SRT-03,06,10]

MAX. PRES. |MAX. FLOW | WEIGHT
MODEL |SIZE MPa(PSI) €/min(GPM) o)
03 30(7.9) 1.2
SRG 06 85(22.5) 2.2
10 ARl 230(60.7) 5.2
SRT 03 30(7.9) 1.2
**MODEL NUMBER DESIGNATION
SR G 03 (90)
VALVE SIZE
TYPE OF CONNECTION [is0 Sror-sn >Som SRT-03
ISO 5781-AG-06-2-A|
SERIESNO.| G:SUB-PLATE TYPE 06: 3/4" DIN 91920'_30LTS
TTHREADED TYPE  [sosrstaroszal \ Joo o
10: 1(1/4)" ;
oo UH4Y. . |(NORTH AMERICA) 3% GRAPHIC SYMBOL
SRG, SRT
X ACCESSORIES \7L
SOCKET HEAD SCREW CAP
MODEL European Design. Std. | N. America Design Std. O'RING
SRG-03 M10x45L 3/8-16UNC x 1-2-3/4 Lg.|4| Pcs| P18 |2|Pcs
SRG-06 M10x50L 3/8-16 UNC x2Lg. |4|Pcs| P29 |2|Pcs
SRG-10 M10x55L 3/8-16 UNC x 2-1/4 Lg. |6(Pcs| P34 |2|Pcs
[sRCG/SRCT-03,06,10]
**SPECIFICATION
MODEL |size| MAX. PRES. |mAx. FLow| WEIGHT
MPa(PSI) emin(GPM) <o Per
03 30(7.9) 18 | 14
SRCG, SRCT| 06 | 25 (3630) 85(22.5) 32 | 36
10 230(60.7) 8 | 72
**MODEL NUMBER DESIGNATION
SR c G 03 (90)
TYPE OF VALVE SIZE | pEgIGN NO.
WITH SLiEC . oY 1SO 50731:-/:3(/_’§06-2-A OMIT:
SERIES NO. | CHECK & 06: 3/4" DU EHZ (20L&
VALVE | SUB-PLATE TYPE | (o o 90:
T e UNC BOLT
THREADED TYPE | 0 e781.a).10.0.4 | (NORTH AMERICA)
MODEL SOCKET HEAD SCREW CAP 0 RING - B —
European Design. Std. | N. America Design Std. ‘ \% ]
SRCG-03 M10x45L 3/8-16UNC x 1-2-3/4 Lg. | 4| Pcs| P18 |2|Pcs |
SRCG-06|  M10x50L 3/8-16 UNC x 2 Lg. |4|Pcs| P29 [2[Pcs | |
SRCG-10 M10x55L 3/8-16 UNC x 2-1/4 Lg. |6(Pcs| P34 |2|Pcs ‘ <> ‘
|

PAGE 114




U
-

soLTecH

**PERFORMANCE CURVES

Y¢Metred Flow vs Adjustment Handle Revolutions
SRG-03, SRT-03, SRCG-03, SRCT-03

4P=25 (363
155128((2233 1P=10 (1450)
Lmin e\ IP=7 (1020)
U.S.GPN,T
1k \ [1/
10-‘3‘603 ]
g sfao 1T
£ | LI 2P=4 (580)
3 o[ LAJ=2P=2 (290)
Y e / J=/p=1(145)
F 1o Jv// /P=0.5 (70)
25
0 0
012 3 4586 7

Fully Open
Adj. Handle Position (Number of turns)

SRG-10, SRCG-10, SRCT-10

Ap= =
P <(125’526~'>\\\”/ G0
U.S.GPM L/min \
350
o T N\YVAT
o 70 -250' \ / / N
8 oo T I/ RN-2P=7 (1020)
] W /0 0 S
3 40} ~-/P=2 (290
L 30t B /(//////\\\/Plﬂ (145)
100 o =1(145)
20" F | MeP=05(70)
18 i ol , \ . 1 1 |

0 2 4 6 81 01 21 4

Fully Open
Adj. Handle Position (Number of turns)

Y¢Metred Flow vs Adjustment Handle Revolutions
SRG-03, SRT-03, SRCG-03, SRCT-03

Pa
PS!| 0.4|-Free Flow* 4 -
o 50 Spool Closed 1
& 40-0.3 1|
P
W 30[r0.2[F
S 20 Controlled Flown | L
7] 0.1FSpool Fully Open
a1 T LT
L
x 0
o 0 10 20 30 40 L/min
L1 i1 1 1 1 1°. L1
0 2 4 6 8 10 12 U.S.GPM
Flow Rate

SRG-10, SRCG-10, SRCT-10

FLOW CONTROLS
THROTTLE (WITH CHECK) VALVES

Hydraulic Fluid: Viscosity 30 mm?/ s (141 SSU), Specific Gravity 0.850

PSI
& 50
2 40
W 30
ézo
@10

£ 0

n.PS MPa 1 1 g | P
o 70 ~0.-5[Free Flow =1
% 60" 0.4Spool Closed<]
w S0 - /’
[ 40 —03 /, e
@30 =
7] 0.2p <
@ %8 [ 0.1 L~ = Controlled Flow
x 0 0 |} Spool Fully Open
0 100 200 300 L/mn
1 1 1 1 1 1 1 1 1
0 20 40 60 8090 U.S.GPM
Flow Rate

SRG-06, SRCG-06, SRCT-06

£LP=16 (232 4P=20 (2900)
/P=10 (145 P=25
IP=7 (1020-)\ \
L/min
U.S.GP
30 120

(3630)

A\

/

25100

W/
\

20

/

%z P=4 (580)

15

Flow Rate

/

(
-/P=2 (290)
\/ P=1(145)

10 4

Z

/

4
A
=

2N
4

N=/P=0.5 (70)

5

-

0

Adj

1234567 891

0
Fully Open

. Handle Position (Number of turns)

SRG-06, SRCG-06, SRCT-06

MPa

0.4'Feé Flow "]

1

) |

““"Controlled 'Flow-\

0.1 Srool Fully Open
)

0 20 40 60 80 100 120 L/min
| I I T I I O |

0 5

Flow Rate

10 15 20 25 30 U.S.GPM

PAGE 115



JL FLOW CONTROLS
—| |- THROTTLE (WITH CHECK) VALVES

soLTecH

DIMENSIONS
SRG-SERIES

MAX. L CONTROL FLOW A
N OUT PORT B D

6, P ADJ. SCREW - C 4-@T

\ @U DEPTHV
N — % X
} | + +
—— L 7R\
T i

LOCKNUT"S"

2Q
7

I

O

PIN 26

CONTROL FLOW |

IN PORT

Model A B C D E F G H J K L N P Q S T U V

SrRG.03| 60 40 20 10 80 60 30 10 45 15 100 65 30 44 19 9 14 8.6

(2.36) | (1.57) | (0.79) | (0.39) | (3.15) | (2.36) | (1.18) | (0.39) | (1.77) | (0.59) | (3.94) | (2.56) | (1.18) | (1.73) | (0.75) | (0.35) | (0.55) | (0.34)
SrRG-05| .80 58 29 11 92 70 35 11 54 16 | 1175 | 73 42 415 23 11 175 | 108
(3.15) | (2.28) | (1.14) | (0.43) | (3.62) | (2.76) | (1.38) | (0.43) | (2.13) | (0.63) | (4.63) | (2.87) | (1.65) & (1.63) | (0.91) | (0.43) | (0.69) | (0.43)

SRG-10| 100 72 36 14 120 92 46 14 71 21 145 | 100 55 56 23 135 | 21 1.0
(3.94) | (2.83) | (1.42) | (0.55) | (4.72) | (3.62) | (1.81) | (0.55) | (2.80) | (0.83) | (5.71) | (3.94) | (2117) | (220) | (0.91) | (0.53) | (0.82) | (0.04)

UNIT: M.M.(INCHES)

DIMENSIONS
SRT-SERIES

A

- B ADJ. SCREW

&

LOCKNUT "L"
CONTROL FLOW J-L‘ g
IN PORT PT "N" w
D j
N &/ o

CONTROL FLOW H
OUT PORT PT"N" G

Model A B C D E F G H J L N

70 35 40 | 143 | 54 23 62 20 60 19 .
SRT-03| (276) | (1.38) | (157) | (5.63) | (2.13) | (0.91) | (2.44) | (0:78) | (2.36) | (0.75) /8
100 | 50 40 | 1365 | 62 30 62 30 60 19 .
SRT-08 | (395) | (1.97) | (1.57) | (5.37) | (2.44) | (118) | (2.44) | (1.18) | (2.36) | (0.75) | 4

130

65 56 | 173 | 73 40 82 40 80 22 .
SRT-10 | 541) | (2.56) | (2.20) | (6.81) | (2.87) | (1.57) | (3.22) | (1.57) | (3.15) | (0.87) @ 1(14)

UNIT: M.M.(INCHES)

PAGE 116



JL FLOW CONTROLS

j r THROTTLE (WITH CHECK) VALVES
soLTeECH
DIMENSIONS
SRCG-SERIES A
3 B D
~ R c
AD) SCREW CONTROL FLOW OUT
LOCK NUT T PORT OR FREE FLOW
IN PORT
4- @U HOLE
| | @V DEPTH W
[

=

|
t N D _
= =\

I B /7 \\\\\

MAX. E

T ﬁ_J -
CONTROL FLOW IN PORT

OR FREE FLOW OUT PORT

UNIT: M.M.(INCHES)
MODEL A B C D E F G H J K L N P Q R T U v w

sreG03| 60 | a0 | 20 10 | 179 | 80 | 60 | 30 | 28 10 | 45 15 | 62 | 55 | 35 19 | 88 | 14 | 86
(2.36) | (1.57) | (0.79) | (0.39) | (7.05) | (3.15) | (2.36) | (1.18) | (1.10) | (0.39) | (1.77) | (0.59) | (2.44) | (2.17) | (1.38) | (0.75) | (0.35) | (0.55) | (0.34)

SRCG-06| .80 58 29 11 | 213 | 95 70 35 30 11 54 16 74 68 40 19 11 | 175 | 108
(3.15) | (2.28) | (1.14) | (0.43) | (8.39) | (3.74) | (2.76) | (1.38) | (1.18) | (0.43) | (2.13) | (0.63) | (2.91) | (2.68) | (1.57) | (0.75) | (0.43) | (0.69) | (0.43)

srcG-10| ,100 72 36 14 228 120 92 46 31 14 71 21 97 82 50 22 13.5 21 1(0.04)
(3.94) | (2.83) | (1.42) | (0.55) | (8.98) | (4.72) | (3.62) | (1.81) | (1.22) | (0.55) | (2.80) | (0.83) | (3.82) | (3.23) | (1.97) | (0.87) | (0.53) | (0.83) )
DIMENSIONS
SRCT-SERIES A
]
ADJ. SCREW
LOCK NUT"L"
[a)
CONTROL FLOW OUT PORT w é
OR FREE FLOW IN PORT = - 1
PT "N"
= N\
o 1J L J
H
2C |<_>
G

CONTROL FLOW IN PORT
OR FREE FLOW OUT PORT

Model A B C D E F G H J L N

70 35 40 | 180 | 625 | 58 42 21 40 19 .
SRCT-03 | 576) | (1.38) | (1.57) | (7.09) | (2.46) @ (2.28) | (1.65) | (0.83) | (1.57) | (0.75) | /8
100 | 50 60 | 215 | 83 65 62 31 60 19 .
SRCT-06 | (3095) | (1.97) | (2.36) | (8.46)  (3.27) @ (2.56) @ (2.44) @ (122) | (2.36) | (0.75) | 3/
130 | 65 80 | 228 | 106 | 77 82 41 80 22 .
SRCT-10 | 5731y | (2.56) | (3.15) | (8.98) @ (4.17) @ (3.03) @ (322) (161) | (3.15) | (0.87) | 1(1/4)

UNIT: M.M.(INCHES)

PAGE 117



U
-

soLTecH

*¢SPECIFICATION

MODEL |size| MAX. PRES.

MAX. FLOW
2/min(GPM)

WEIGHT

(Kg)

MPa(PSI)
CLT 03

30(7.9)

5]

CLT 06 21 (3050)

85(22.5)

5

CLG 06

85(22.5)

9

**MODEL NUMBER DESIGNATION

CL G 03

(€)

(90)

TYPE OF
CONNECTION
G:
SUB-PLATE TYPE
T:
THREADED TYPE

SERIES NO.

VALVE SIZE
03:3/8"
06: 3/4"

OMIT:
NORMALLY
OPEN TYPE

C:
NORMALLY
CLOSED TYPE

DESIGN NO.
OMIT:
DIN 912 BOLTS
90:
UNC BOLT
(NORTH AMERICA)

** ACCESSORIES

SOCKET HEAD SCREW CAP

O RING

MODEL ,
European Design. Std.

N. America Design Std.

CLG-03 M10x100L

3/8-16UNC x 4 Lg.

4|Pcs

P28 [2[Pcs

*GRAPHIC SYMBOL
CLG, CLT

=y

**PERFORMANCE CURVE

v¢Pressure Drop for Reversed Free Flow

CLG-03, CLT-03
5o |

Spool Closed
60 P f

N

Spool Ope

40

P
S/

Pressure Drop

20 L —

0

20 30 4

0 50 L/min

0 2 4 6 8 10
Flow Rate

12 14 US.GPM

vrMetred Flow vs. Spool Depression

CLG-03, CLT-03

Spool depression (Normally Closed)

IN. 4 3 2 4 0
T T Y N N
mm 10 8 6 4 2 0
USGPMLmid———11 1 1 L 111
8 30 l\ \\ \\
i VN TN
N\ AN
2 B VAN
g ° AN A
@ s 20 E 1 MP P AN Differetial Pressure
E 41— [ (145 PSI \\\/ 21 MPa
Y T = 1 (3050 Psl)
2 "0 (200 Psil N 10 MPa
1+ 5 MPa~” (1450 PSI)
oo B0 pS —
0 2 4 6 8 10 mm
[ N I N I T S

0 A 2 3
Spool depression (Normally

PAGE 118

4 IN.
Open)

FLOW CONTROLS
DECELERATION AND CHECK VALVES

[cLT/CLG-03,06]

CLT-06

NORMALLY NORMALLY
OPEN CLOSED
CLT-06
PSI  MPa
1501 1.0 t
125 0.8 Spool flmpd-\
100 |
75 0.6 Spool O‘mh—\\ )Vl
50 0.4 N
25H—0.2
0 0
0 50 100 150 200  L/min
] ] ] ] |
0 10 20 30 40 55 U.S.GPM
Flow Rate
CLT-06
Spool depression (Normally Closed)
IN. .5 4 3 2 A 0
I ) I I
mm 13 10 8 6 4 2 0
useGPpMmL/minl L I I L LI ]
22 1 ALl A\
I 80
20 V.
N \\ ‘\
% 16 : 60 N N[NV Differential Pressure
c L =21 MPa
I AVay %qiﬂqPPsn
[ — \ - a
8 =1 MPa] X
~ 20 [ (145 PS|) A\Y (;‘E&%P.Sl)
4 a
L 2 MPg”
. 0 (290 PSI3 (730.PSI)
0 2 4 6 8 10 13 mm
[ I Y O
0 1 2 3 4 5 IN.

Spool depression (Normally Open)



i | FLOW CONTROLS
1 DECELERATION AND CHECK VALVES

soLTecH

DIMENSIONS
CLT-SERIES RETURN

———— POSITION

O O y s /—

ROUTE

5
O
o

M
DRAIN PORT OR N

R FREE INLET PORT
hll# PT3/4 i
_J: PRESSURE PORT OR
J ] T FREE OUTLET PORT
J ‘ e - 7 T PT-3/4
R prH
! 4 - @}y |

[T 'nggfg
/ﬁ
N
=

; i
L | / \. |
[ ,
= - | a 1
l I .C | T R

D| = | PT-1/4

K

UNIT: M.M.(INCHES)

MODEL A B Cc D E F G H | J K L M N o
CLT-03 | 116(4.56) | 84(3.30) | 31(1.22) | 16(0.62) | 34(1.33) | 16(0.62) | 68(2.67) | 26(1.02) | 161(6.33) | 144(5.68) | 68(2.67) | 34(1.33) | 8(0.31) | 27(1.06) | 12(0.47)
CLT-06 | 118(4.64) | 90(3.64) | 33(1.29) | 13.5(0.53) | 28(1.10) | 35(1.37) | 73(2.87) | 29(1.14) [176.5(6.94)|158.5(6.24)| 76(2.99) | 38(1.49) | 9.5(0.37) | 30(1.18) | 12(0.47)

DIMENSIONS

CLG-06

RETURN
POSITION

ROUTE 10

ﬁ PRESSURE PORT OR ﬂE
FREE OUTLET PORT
s 1 i} f l
< ' ’ e _ _
Pl BN D -4 T I T N N/ T e Y = == f S A (2]
2 I e | &
B 5| S 1 ) e
2 | | | w0 ~
N ! ; = -
| R S ]
| DRAIN PORT OR -
FREE INLET PORT
S e—@ YPr— ]

j i | j """"""""""""

| | | |

| 24(0.94) |

= | PORT ‘ (1.97)

45 (1.77) | ‘ 50
74(2.91)
(3.82)
98 (3.86) 97
121(4.76) | UNIT: M.M.(INCHES)

PAGE 119



—J’L FLOW CONTROLS
j |- SOLCON VALVES

soLTeECH
*SPECIFICATION
MODEL | sizE | MAX. PRES. RATED ADJ. FREE FLOW WEIGHT
Bar(PS) in(GPM) in(GPM) (Kg)
FSC 02 70(1015) 0.01~4(0~1.06) | 20~40(5.28~10.57) 1.92
FSC 03 0.001~8(0~2.11) | 30~60(7.92~15.85) 2.62

** MODEL NUMBER DESIGNATION

FSC G 03
SERIES NO. | SUB-PLATE POOE-T 1:/SslgE
CONNECTION | 2"

FSC-G-02 FSC-G-03

— FSC-G-02 FSC-G-03 PRESSURE COMPENSATED PRESSURE COMPENSATED

*GRAPHIC SYMBOL
FSC
j— Out
S ]%\**
ﬁg 5(0.95‘/ ; .
o] e In
E @ @ UNIT: M.M.(INCHES)
62(2.44) — 1 74(2.91) 1\
742.91) 90(3.54)
MODULAR TYPE [MFS]
5 SPECIFICATION ISO 4401-AC-03(05)-4-A, NFPA-D03(05), CETOP 03(05), NGO6(10)
MODEL | size | MAX. PRES. RATED ADJ. FREE FLOW WEIGHT
Bar(PSl) 2/min(GPM) e/min(GPM) (Kg)
MFS [02 [0 111 [ 001-6(0-1.50) [ 20-30(528-7.98) [ 2.22
MFS | 03 0.001~12(0~3.17) | 30~60(7.92~15.85)| 3.55

**MODEL NUMBER DESIGNATION

MFS 03 08 A D24
FLOVumeTpﬁ)ADJ' FUNCTION PORT: VOLTAGE
SERIEs |PORT SIZE 02:0.1~2 A: APORT A25: AC220V/50HZ
NS 02: 1/8" 04:0.1~4 B: B PORT A26: AC220V/60HZ
: 03: 3/8" 08:0.1~8 P: PORT D12: DC12V
12:0.1~12 : :
J2:0.1-12 T: T PORT D24: DC24V MFS-03
L MFS-02 . MFS-03
| I | I |
*GRAPHIC SYMBOL
SoLTECH SOLTECH M F S
| [ s
P T A B
3| o
@ ~
s o
[ee] o
< ~

UNIT: M.M.(INCHES)

PAGE 120



U
-

soLTecH

*¢SPECIFICATION

MODEL | SizE | MAX. PRES. | RATED ADJ. FREE FLOW | WEIGHT
Bar(PS|) in(GPM) in(GPM) (k)
FNC | 02 0.01~4(0~1.06 20(5.28 1.12
70(1015) ( ) (5.28)
FNC | 03 0.001~8(0~2.11) 30(7.92) 1.88

** MODEL NUMBER DESIGNATION

FLOW CONTROLS
FLOW CONTROL WITH CHECK VALVES

[FNC)

FNC G 03
PORT SIZE
SUB-PLATE . q/Qn
GRS CONNECTION 8§ :15;2
FNC-G-03 FNC-G-02
I PRESSURE COMPENSATED
FNC-G-02
|.24094) — ;,L—’ N

—~I N

< Jan @ @

S D IN NP e

92 ’«/;< | o

— \\\\ ‘:/? ] a o~ —
o3 4 58 2 2l

= AR ’ - o SN

N NP S - B|R

3 : 3

= ouT =3 fan

& @ S N D

- -

62(2.44) 74(2.91)
74(2.91) 90(3.54)

FNC-G-03
PRESSURE COMPENSATED

**GRAPHIC SYMBOL

FNC
Out

UNIT: M.M.(INCHES)

AXIAL CAM OPERATED, PUSH-DOWN [FYB]

*SPECIFICATION

MODEL | SIZE MAX. PRES. RATED ADJ. FREE FLOW WEIGHT
Bar(PSl) in(GPM) in(GPM) (Kg)
FYC | 02 0.01~4(0~1.06) 20(5.28) 1.20
Fvc | o3 | 001019 0.001~8(0~2.11) 30(7.92~) 1.95
*MODEL NUMBER DESIGNATION
FYC G 03
PORT SIZE
SUB-PLATE . "
SERIES NO. CONNECTION 8§ :13;2
FYC-G-02
PRESSURE COMPENSATED
25(0.98)
L_132(126) , [FYC-G-03
. i —
= ~
£ 2 D TN B
® N _
N ST
w3 @] N ‘L\::;/y —~ —
22 g 8 < o
@ o A N
) © o iy 3R
o] = N :
o 5 F
5 pa j
N =
al D S| @ out B
62(2.44) —t
| 74(2.91)
74291) 90(3.54)

FYC-G-03
PRESSURE COMPENSATED
*¢GRAPHIC SYMBOL
FYC
Out
-

©O=E3ll

UNIT: M.M.(INCHES)

PAGE 121



U
-

soLTecH

FLOW CONTROLS
FLOW CONTROL WITH CHECK VALVES

ROTARY OPERATED [FKC])
*¢SPECIFICATION

MODEL | size | MAX. PRES. | RATED ADJ. FREE FLOW | WEIGHT
Bar(PSI) in(GPM) in(GPM) (Kg)
FKC | 02 0.01~4(0~1.06 20(5.28 1.18
70(1015) ( ) (5.28)
FKC | 03 0.001~8(0~2.11) 30(7.92) 1.95

** MODEL NUMBER DESIGNATION

FKC G 03 A (L) \ P 46
POSITION OF N

SERIES | SUB-PLATE P%;T“SS'%E ROTARY DEVICE Oﬁﬁ?ggﬁf_;‘gv’\\'m ==

NO. |CONNECTION 3 : :

03: 3/8 ol L RIGHT-UP
FKC-G-02-A FKC-G-03-A
PRESSURE COMPENSATED PRESSURE COMPENSATED
25(0.98)
24(0.94) F*ML*
ey ‘ FKC-G-03|  ;%GRAPHIC SYMBOL
L] P Y E— FKC

—~T N~

S o 2| DTN s> 2 o
s ¢ N Sl gl 1
% L « T |

3 b ~s 8 e o = Y
= : 2 & SIS
R g 3 S Iy SR Out

g g ' SE |

o 4

g & s @ our ®

oy | oy .

62(2.44) \ 74(2.91) UNIT: M.M.(INCHES)
74(2.91) ‘ 90(3.54)
*DESCRIPTION
FKC-G-02-A FKC-G-02-AL
FKC-G-02-B FKC-G-02-BL

=

3

Eﬂh

PAGE 122



Jd FLOW CONTROLS
_| |_ THROTTLE WITH CHECK VALVES

soLTecH

PRESSURE COMPENSATED [KTLP])

*SPECIFICATION
RV ASSING GHECK
MODEL | SIZE [MAX. PRES. |MIN. FLOW| MAX. FLOW Gl et A B S —
(PT/Rc) MPa(PSI) (GPM) M)
MIN. | MAX
KTLP | 02 |0 o4 1(0.3) 11(2.9) 1(0.3) | 19(5.0) [43(1.69) | 32(1.26) [ 91(3:58) | Middle Carbon
KTLP | 03 2(0.5) 23(6.1) | 2(0.5) | 30(7.9) |e0@1s) | se1.50) [1054.13)|  Steel

e Equipped with pressure compensation. Under various load it can

maintain same speeds. -
e Equipped with micro graduation. Easy to adjust. ::| ::|
A
*¢MODEL NUMBER DESIGNATION 3 GRAPHIC SYMBOL B ‘ r | |
KTLP 03 KTLP 1
PoRT SEE — N R /C)
(PT/Rc)
SERIES NO. 8§ ;jg \ | | 1 \
04: 1/2" L T J | c i UNIT: M.M.(INCHES)

HIGH PRESSURE [KTL]
*<SPECIFICATION

MODEL | SIZE [MAX. PRES.|[FLOW RATE| B C | MATERIAL

(PT/Rc) MPa(PSI) 2/min(GPM) ' %
KTL 03 25(6_6) 43(1.69) | 25.4(1.0) | 70(2.76) Middle
KTL | 04 | 35(5075) 40(10.6) | 43(169) | 321.26) [ 87(343) |  Carbon
KTL 06 95(25.1) | 54(213) |38.1(1.5) | 98639)|  Steel
e Large bleed-off capacity for high pressure. Equipped with micro
graduation. Easy to adjust.

A
*<MODEL NUMBER DESIGNATION :GRAPHIC SYMBOL [ | [] ‘ ‘
KTL 03 KTL i
PORT SIZE (7:;7W BT~ B (C)
PT/Rc
( ) 1 \ /

|,
SERIES NO. 03: 3/8" |
04: 1/2" \
06: 3/4" |

‘ [ ' UNIT: MM.(INCHES)

[To]
% SPECIFICATION

MODEL | SIZE |MAX. PRES. F'-eg‘i’r“’(m)TE A | B | ¢ | D |MATERIAL
TL 02 12(3.2) 32(1.26) | 23(6.08) | 7(1.85) [62(16.38)
TL 03 21(3045) 20(5.3) 32(1.26) | 26(6.87) | 7(1.85) |70(18.49) HEX.
TL 04 30(7.9) 35(1.38) | 33(8.72) | 10(2.64) |81(21.40)] STEEL
TL 06 48(12.7)  |39(10.30)|41(10.83)| 13(3.43) | 92(24.30)
— | \\ %
- \ S

e Hi-concentricity. Very accurate under micro adjustment. Excellent
for bleed-off control mode.

** MODEL NUMBER DESIGNATION >§<GRAPHIC SYMBOL

04: 1/2"
06: 3/4" o}

TL 03 _TL
PORT SIZE M o
(PT/Rc) | \% | o
02: 1/4" ! \
SERIES NO. 03- 3/8" | | -
| WO

UNIT: M.M.(INCHES)

PAGE 123



